= =
o o
N w

1000/ do)/dm [1/GeV]
|_\
o

1073

107

Ratio to CMS
[N

0.5

7000 GeV pp Z+Jet
:l I I I | I I I | I I I | I I I |:
=" Filtered Jet Mass(anti-kT(0.7), 125<p <150, |y|<2.5) =
= I | - =
E_ ’, ~-.~_>..~..__\..\.,w _E
- o & -
N . 7]
- | —
= ) =
B Noom |
= \Eil\ —
= m CMS h =
B 3-- Herwig 7.0.4 default 7
= ¢ Sherpa 2.2.2 default EJ =
%I S ISR E
— K3 _
B 7

.\\\"~~ ]
| \\‘E‘-‘_ B |
| L R @ m ., ‘ =
| Tl _|

O O BN SO N S SR
0 20 40 60 80

Rivet 3.1.0, = 7.5M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


